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@ 2x+1>4x-3

D 2x+1<5

@ x+1>2

@ x-2<0

® —x+4>3
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@ x+y=0
© x(x+1)+y=x"+y
© x=y

® x(2+3y)-3xy=0

@ x(x+1)+yy+1)=0
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AYEA A 0.5x - 0.1y = 0.5x + 0.4y = 0.1x + 0.1y + 0.8 & =4

@ (-2, 2) @ (-2,-2) ® (2, 0)
@ (2, -1) ® (2, -2
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O A& 1km @ Al% 4km

@ A% 10km ® Al% 20km

® A& 5km
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@® 10y +x = (10x+y) —45 @ 10y + x = (10x +y) + 45
® 10y +x+45= (10x +y) @ 10x+y = (10y + x) + 45

® 10y + x = (10x +y) x 45
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@ x<1
@ x<3
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b-1)x*+ax-bx>3(a-1)=EA? (Fa<])

@ x<-3 ® x>3
® x>-1
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BEX (a+b)x+2a-3b <02 7t x < -

2b)x+2a+b <0 2] =2

@ x>7 @ x<7

@ x<-7 ® x<3
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@ x>-7



